Warm-Up...

Simplify the fDﬂDWlIlg expression:
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Poor Tyler could use your help...

Tyler has begun to solve a rational 3
equation. His work is shown below. (\['/
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Time to start applying some of our number sense!!

8. Th ft bers is 25. Th
e sum of two numbers is e sum

of their reciprocals is % Determine the

two numbers. l—p{' . Pq; /.&{_#
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Erin and Andrea set off at the same time on a 30-km walk for charity.

Erin, who has trained all this event, walks 1 km/h faster than
Andrea. Erin finishes the walk 1 h'ahea n - HowTast was

each sister walking, and how long did it take for each sister to finish the

walk? .
Would something like this chart help organize things? j
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